Řešení 17.4.
Uč. 83/6	8 dl + 5 dl + 7 dl = 20 dl = 2 l
		Maminka připravila 2 l nápoje.

		20 dl : 2 dl = 10
		Mohla naplnit 10 sklenic.
	1 400 l
	2 l  840 ml
	0 hl  58 l

	528 hl
	15 l  780 ml
	3 hl 63 l

	4 000 ml
	1 287 ml; 287 ml
	452 l; 4 hl 52 l


PS 14/5		


	a)
	503

	b)
	70 021

	c)
	806 200

	d)
	3 100 040

	e)
	1 000 890


PS 15/11	



	450
	7 600
	84 000

	360
	6 200
	71 000


PS 15/13	


Řešení 16.4.
	2000 ml
	910 dl
	480 ml

	340 dl
	40 dl
	630 ml

	82 000 ml
	5 600 cl
	240 cl

	4 500 dl
	11 300 cl
	10 200 ml


Uč 82/4 


PS 14/1		1 hl = 100 l = 100 000 ml
		1 l = 1 000 ml
	400 l
	2 l  315 ml
	1 284 ml

	7 000 ml
	5 l  54ml
	3 082 ml

	3 hl
	170 hl 35 l
	76 hl 80 l

	507 l
	4 hl 62 l
	235 l


PS 14/2  



PS 14/3		400.15 = 6 000 ml = 6 l
 		Babička bude potřebovat 6 litrů nálevu.

PS 14/4*	a) (6 554 – 374) : 15 =412
		b) (582 + 283) . 23 = 19 895
Řešení 15.4.
Uč. 82/2 
Za týden 2.7=14l
[bookmark: _GoBack]Za měsíc 2.30=60l
